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Question 1
Question Type: MultipleChoice

What are two examples of supported NetApp FC configurations? (Choose two.)

Options: 
A- a single NetApp node directly connected to a single host

B- a single switched environment with a NetApp node connected to only one host

C- a dual switched environment with a NetApp node connected to multiple hosts

D- a single NetApp node directly connected to multiple hosts

Answer: 
B, C

Question 2
Question Type: MultipleChoice



An administrator wants to implement FCoE for connectivity of an AFF A200 using VLAN 3011 for fabric traffic across VSAN 11. When

configuring the Nexus switches for FCoE connectivity, which two actions are required? (Choose two.)

Options: 
A- Create a new virtual FC interface and bind the physical interface to it.

B- Add the virtual interface to the VSAN.

C- Create a port channel and add all of the physical network ports that will have FCoE LIFs.

D- Add the adapter MAC address to the network port configuration where the node is connected.

Answer: 
B, C

Question 3
Question Type: MultipleChoice

Exhibit.



An administrator is configuring FCoE on Cisco Nexus switches for a new AFF A200 ONTAP cluster. The administrator executes the

commands shown in the exhibit to create the necessary network configuration.

Which VLAN is responsible for controlling the FCoE traffic on the new interface?

Options: 
A- 0

B- 3011



C- 23

D- 11

Answer: 
B

Question 4
Question Type: MultipleChoice

Exhibit.





You are moving volumes between aggregate aft_01_aggr1 and the aggregate Aggr_Data shown in the exhibit.

How much space will be moved?

Options: 
A- 11.17 TB

B- 935.75 GB

C- 296 KB

D- 1. 91 TB

Answer: 
C

Question 5
Question Type: MultipleChoice

Exhibit.



Referring to the exhibit, which FC LIF would cause a path failure on a host connecting to a LUN?

Options: 
A- fcp_sanluns01prod02p0e

B- fcp_sanluns01prod02p0g

C- fcp_sanluns01prod02p0g

D- fcp_sanluns0lptodOlp0e

Answer: 
A



Question 6
Question Type: MultipleChoice

Which tool collects configuration data from hosts and switches to assist in evaluating a qualified configuration?

Options: 
A- System Manager

B- sysstat. command

C- SnapCenter

D- OneCollect

Answer: 
D

Question 7
Question Type: MultipleChoice



Your server administrator upgraded a Windows 2016 Server from 16 Gb to 32 Gb HBAs. The application owner is now reporting slower

performance to the AFF A700.

Which two actions will help troubleshoot performance on the server? (Choose two.)

Options: 
A- Verify the HBA model using Hardware Universe.

B- Verify the HBA firmware using the Interoperability Matrix Tool.

C- Confirm that LUN mapping exists.

D- Confirm that Windows Host Utilities Is installed.

Answer: 
A, B
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